2023454

SEMTER EMEETIE

- : BEAS (] =
k AR (k2£%) (EHEIST - BT S)
1| A 15:30 ~ 17:30
2 | k| 1530 ~  17:30
3 | Kk KEH
4 | K KEH
5 | € KEH
6 | KEH
7|8 KEH
8 | B| 1530 ~  17:30
9 | k| 1530 ~  17:30
10| K| 1530 ~  17:30
1| K AEH
12| €| 1530 ~ 17:30
13| £ AEH
14| B AEHRH
15| B | 1530 ~  17:30
16| k| 1530 ~  17:30
17| K| 1530 ~  17:30
18| K AE&EHRH
19| %€ | 1530 ~  17:30
20 | 3=
21| B == AKESR
22 | R == ARESEREAKER
23| k| 1530 ~  17:30 AEZEFHEA
24 | K| 1530 ~  17:30
25 | K A#&R BExE
26 | & T AMAH RERTE
27 | £ T AMAH
28 | H T AMAH
29 | B T AMAH hTFRANAERB)
30| k| 1530 ~  17:30 T AN2BA8)
31| K| 1530 ~  17:30

(K& FE-ERBRF)




